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1. 10% Beginning with V5 ., = 0.8V for each diode, determine the change in V, if Vi, changes from +2.4V 1o +2.5V for the
circuit shown in Fig. |.
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2. 20% In the circuit of Fig. 2, #= 100 and ¥, = co.
(a) If the collector current of Q is equal to 0.5mA, calculate the value of /s.
(b) If O, is biased at the edge of saturation, calculate the value of /5.
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3. 20% Calculate V,,/V,, for the circuit shown in Fig. 3. Assumie fg = 8x 168, A+ 100, and V4 = w0, Also assume the

capacitors are very large.
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4. 20% Consider the circuit shown in Fig. 4, where (W/L), = 10/0.18 and (W/L); = 30/0.18. If 1= 0. V! and pnCox =
200x10°A/V?, calculate ¥ such that ¥y = 0.9V.
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S 20% The CS stage depicted in Fig. 5 must achieve a voltage gain of 15 at a bias current of 0.5mA. IfA; = 0.15V", Ay =

0.05V" and pi,Cor = 200x10°A/V?, determine the required value of (W/L),.
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6. 10% Calculate Vo in terms of Vi, for the circuit shown in Fig. 6.




